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GENERAL INSTRUCTIONS
1. All questions are compulsory. Each question carries 1 mark.

2. No cell phones, calculators, books, slide-rules, notebooks or written notes, etc. will
be allowed inside the examination hall.

3. You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions, you will be
disqualified.

4. Any candidate found copying or receiving or giving assistance in the examination
will be disqualified.

5. The Question Paper and the OMR Response Sheet (Answer Sheet) would be
supplied to you by the Invigilators. After the examination is over, you should hand
over the OMR Response Sheet to the Invigilator before leaving the examination
hall. Any candidate who does not return the OMR Response Sheet will be
disqualified and the University may take further action against him/her.

6. All rough work is to be done on the question paper itself and not on any other
paper. Scrap paper is not permitted. For arriving at answers you may work in the
margins, make some markings or underline in the test booklet itself.

7. The University reserves the right to cancel the result of any candidate who
impersonates or uses/adopts other malpractices or uses any unfair means. The
University may also follow a procedure to verify the validity of scores of all
examinees uniformly. If there is substantial indication that your performance is not
genuine, the University may cancel your result.



FST-01 ( 2 )

How to fill up the information on the OMR Response Sheet
(Examination Answer Sheet)

1. Write your complete Enrolment No. in 9 digits. This should correspond to the
enrolment number indicated by you on the OMR Response Sheet. Also write your
correct name, address with pin code in the space provided. Put your signatures on
the OMR Response Sheet with date. Ensure that the Invigilator in your
examination hall also puts his signatures with date on the OMR Response Sheet at
the space provided.

2. On the OMR Response Sheet student’s particulars are to be filled in by blue/black
ball pen also. Use blue/black ball pen for writing the Enrolment No. and
Examination Centre Code as well as for blackening the circle bearing the correct
answer number against the serial number of the question.

3. Do not make any stray remarks on this sheet.

4. Write correct information in numerical digits in Enrolment No. and Examination
Centre Code Columns. The corresponding circle should be dark enough and should
be filled in completely.

5. Each question is followed by four probable answers which are numbered (1), (2), (3)
and (4). You should select and show only one answer to each question considered by
you as the most appropriate or the correct answer. Select the most appropriate
answer. Then by using blue/black ball pen, blacken the circle bearing the correct
answer number against the serial number of the question. If you find that answer
to any question is none of the four alternatives given under the question, you
should darken the circle with ‘0’.

6. No credit will be given if more than one answer is given for one question. Therefore,
you should select the most appropriate answer.

7. You should not spend too much time on one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering
all the questions, you may go back to the unanswered question.

8. There is no negative marking for wrong answers.
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1. Indus Valley Civilisation represents which age of human history ?

(1) Stone Age (2) Iron Age

(3) Bronze Age (4) Space Age

2. Sulvasutra from Indus Valley Civilisation is a detailed description of :

(1) Geometry (2) Geography

(3) Astronomy (4) Calligraphy

3. Discovery of geometrical solids like tetrahedron, cube and octahedron is credited to

mathematicians of which civilisation ?

(1) Indian (2) Greek

(3) Mesopotamian (4) Egyptian

4. Which of the following is not responsible for the decline of Bronze Age

Civilisation ?

(1) Invasions by nomadic barbarians

(2) Overthrow of one dynasty of priest-kings by another

(3) Increase in population leading to pressure on cities

(4) The emergence of two distinct classes : haves and have-nots, led to conflicts in

the society
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5. History of Science can be described as :

(1) a story of interaction of Science and Society

(2) a chronological description of invention of tools used for Science

(3) a chronological description of events of scientific discovery

(4) current scientific events

6. The pottery of Rigvedic period found in the Gangetic plain is known as :

(1) Painted blue ware (2) Painted grey ware

(3) Brick pottery (4) Clay pottery

7. ........................ speaks of ploughs drawn by teams of twelve oxen used for

agriculture.

(1) Rigveda (2) Arthashastra

(3) Yajurveda (4) Charak Samhita

8. According to Al Baruni, Indian Science was in declining phase by the 11th century.

What were the key reasons identified by him ?

(A) Lack of patronage to Indian scholars

(B) Loss of connection of science with common people

(C) Heavy expenditure by kings on scientific research

Codes :

(1) Only (A) and (B) (2) Only (A) and (C)

(3) Only (B) and (C) (4) All of these
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9. Which of the following scientific developments is a contribution by

Arabs ?

(1) Heliocentric model of solar system

(2) Discarding scientific treatment of optics

(3) Large scale production of perfumes

(4) Gunpowder

10. Architecture style of India underwent a drastic change after ................. .

(1) Arab conquest (2) European conquest

(3) Turkish conquest (4) Chinese conquest

11. Indian treatise of medicine is known as .................. Samhita.

(1) Sushruta (2) Charak

(3) Bhrigu (4) Patanjali

12. Around the river valley of Nile, ............. civilisation came into existence.

(1) Egyptian (2) Chinese

(3) Mesopotamian (4) Indus

13. According to Ayurveda, the Tridoshas, Vayu, Pitta and .............. are supposed to be

present in the living creatures.

(1) Jala (2) Agni

(3) Kapha (4) Akasha
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14. Which of the following is not true about Iron Age ?

(1) Fermentation methods were known.

(2) Dyeing technique was developed.

(3) Preparation of chemical colours was well known.

(4) Technique of producing iron and steel was not known.

15. Which of the following statements best represents a hypothesis ?

(1) Water is always made up of the elements hydrogen and oxygen.

(2) An object falls to the ground because it is attracted by the earth.

(3) A ball when thrown up, comes down.

(4) A body falling down, experiences gravitational force of attraction of

earth.

16. Which of the following is inclusive of everything that influences an organism from

outside ?

(1) Atmosphere (2) Forests

(3) Environment (4) Deserts

17. Identify the correct statements about Renaissance period :

(A) It was a transitional movement in Europe between medieval and modern

times.

(B) It was the work of small minority of scholars and artists.

(C) It was the period of large scale development in mechanistic production.

Codes :

(1) Only (A) and (B) (2) Only (A) and (C)

(3) Only (B) and (C) (4) All of these
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18. Which of the following pairs are correctly matched ?

(A) Syed Ahmed Khan — Aligarh Scientific Society

(B) Syed Imdad Ali — Banaras Hindu University

(C) Jamshedji Tata — Indian Institute of Science

Codes :

(1) Only (A) and (B) (2) Only (A) and (C)

(3) Only (B) and (C) (4) All of these

19. Which of the following statements about Science are

correct ?

(A) Science is the search for knowledge.

(B) Science enables to ‘demystify’ natural phenomenon.

(C) Scientific knowledge is acquired through our senses.

Codes :

(1) Only (A) and (B) (2) Only (A) and (C)

(3) Only (B) and (C) (4) Only (B)

20. What is true about the results of scientific experiments ?

(1) Objective conclusion (2) Reproducible

(3) Verifiable (4) All of these



FST-01 ( 8 )

21. ‘Blood circulation’ was discovered by :

(1) Robert Hooke (2) Robert Boyle

(3) William Harvey (4) John Napier

22. What is a light year ?

(1) Distance travelled by earth in one year

(2) Distance travelled by light in one year

(3) Time taken by light to reach earth

(4) Time taken by sun to make one rotation

23. What is apparent shifting of sun, when viewed against the distant

starts ?

(1) 5° per day (2) 10° per day

(3) 1° per day (4) 7° per day

24. Constellations are useful to sailors to determine ............. of their ships.

(1) Latitude (2) Speed

(3) Distance (4) Continent

25. Study of ‘Sound’ is :

(1) Aerobics (2) Acoustics

(3) Aerodynamics (4) Phonemics
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26. Which of the following statements are true about Geocentric model of

universe ?

(A) Earth is at the centre and stationary.

(B) Sun, Moon and Planets move around the earth in circular orbits.

Codes :

(1) Only (A) (2) Only (B)

(3) Both (A) and (B) (4) None of these

27. What is frequency of a wave ?

(1) Number of cycles travelled by a wave per second

(2) Distance travelled by a wave per second

(3) Energy emitted by a wave per second

(4) Distance travelled by a wave per minute

28. Which of the following waves has the highest energy associated with

it ?

(1) Radio waves (2) Infrared waves

(3) Light waves (4) X-rays

29. What is a ‘black hole’ in space ?

(1) A black dwarf

(2) A collapsed star with very strong gravity

(3) A deep trench in space

(4) A star in the making
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30. Most favoured theory of formation of universe is ...................... .

(1) Big-Bang theory (2) Steady state theory

(3) Theory of natural selection (4) Theory of special creation

31. Which of the following planets has no satellite ?

(1) Mars (2) Earth

(3) Venus (4) Jupiter

32. Which of the following planets has no atmosphere ?

(1) Mars (2) Earth

(3) Mercury (4) Venus

33. Which of the following methods of astronomy analyses the radio waves emitted by

various objects in the universe ?

(1) Radio astronomy (2) Optical astronomy

(3) Space probes (4) Solar astronomy

34. ‘Pulsars’ were discovered with the help of :

(1) Magnetic telescope (2) Radiotelescope

(3) Microscope (4) Optical telescope

35. What is the position of earth with respect to Sun in our solar system ?

(1) First (2) Third

(3) Fourth (4) Seventh
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36. Identify the correct statements :

(A) Sun is about 1 million times bigger than earth.

(B) Sun is about 3 lakh times heavier than earth.

(C) Sun is 4 times denser than earth.

Codes :

(1) Only (A) (2) Only (B) and (C)

(3) Only (A) and (B) (4) All of these

37. “Living organisms are produced from rotting food and other organic matter”, is

given by .................... .

(1) Theory of spontaneous germination

(2) Theory of special creation

(3) Theory of chemical evolution

(4) Ancient Greek idea

38. “Innumerable forms of life were created by a divine act” is the basis of ................. .

(1) Theory of spontaneous germination

(2) Theory of chemical evolution

(3) Theory of special creation

(4) Ancient Greek idea
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39. Which type of evolutionary evidences support the statement “Bipedal locomotion

developed to an advanced stage before the development of brain to an advanced

stage” ?

(1) Biochemical (2) Palaeontological

(3) Anthropological (4) Archaeological

40. Which type of evolutionary evidences support the statement that “Chimpanzees,

Gorrillas and Humans are closely related to each other” ?

(1) Biochemical (2) Palaeontological

(3) Anthropological (4) Archaeological

41. Which kingdom consists of organisms with green pigment, chlorophyll and who can

manufacture their own food by photosynthesis ?

(1) Monera (2) Fungi

(3) Plantae (4) Animalia

42. “Life could have arisen from non-living organic molecules” was proposed

by :

(1) Aristotle (2) Pasteur

(3) Miller (4) Oparin and Haldane
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43. Which of the following defines renewable resources ?

(1) They are inexhaustible.

(2) They cannot be regenerated.

(3) They are present in limited quantity.

(4) They cannot be used repeatedly.

44. Which of the following constitute the soil resource ?

(1) Sand and silt (2) Clay and moisture

(3) Organic and mineral nutrients (4) All of these

45. Salinity of soil can be reduced by :

(1) application of gypsum (2) planting of barley, millets and spinach

(3) application of fertilizers (4) less irrigation

46. Energy flow is a ................. way process while mineral nutrients move more or less

in ............... way.

(1) one, two (2) one, cyclic

(3) two, one (4) cyclic, one

47. Ecology is the study of the relationship between organisms and their ................... .

(1) Dependents (2) Abiotic factors

(3) Biotic factors (4) Environment



FST-01 ( 14 )

48. The entry point of energy in an ecosystem is :

(1) Decomposer (2) Producer

(3) Consumer (4) Herbivore

49. Nutrient rich oceanic water appears greenish due to the presence of large .............. .

(1) Fishes (2) Plankton

(3) Bioluminescence sponges (4) Both (1) and (2)

50. ................. is a blanket around the earth, that protects it from scorching during the

day and freezing during night.

(1) Ozone layer (2) Hydrosphere

(3) Atmosphere (4) Smog

51. Which of the following is not a persistent pollutant ?

(1) Plastics (2) Nuclear waste

(3) Kitchen waste (4) Pesticides

52. Which of the following statements is incorrect ?

(1) PAN stands for peroxyl acetyl nitrate.

(2) Breathing ozone affects respiratory and nervous system.

(3) Ozone discolours textiles and paintings.

(4) PAN promotes plant growth.
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53. Algal blooms can be prevented by treating sewage water thoroughly to :

(1) Remove nutrients (2) Add nutrients

(3) Add oxygen (4) Remove oxygen

54. Marine and freshwater fishes are an excellent source of ................. .

(1) Fats (2) Carbohydrates

(3) Proteins (4) Calcium

55. Kashmir, Chokla, Bakharwal, Marwari are common breeds of .................. .

(1) Sheep (2) Cow

(3) Buffalo (4) Pigs

56. Which of the following is not a green manure crop commonly planted on field bunds

to prevent soil erosion ?

(1) Sunhemp (2) Cluster bean

(3) Horsegram (4) Sugarcane

57. Famine codes tell us how to minimise the suffering of people and livestock

when ..................... .

(1) Rainfall is less (2) Rainfall is good

(3) Sunshine is less (4) Sunshine is good
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58. ................. soils have maximum production potentials as compared to the remaining

nine groups of soils.

(1) Red (2) Black

(3) Alluvial (4) Laterite

59. In states like Rajasthan and Gujarat, abundance of sunshine causes high rate

of .................... .

(1) Nitrogen fixation (2) Evaporation

(3) Soil erosion (4) Drought

60. ................. is an emergency energy reserve.

(1) Carbohydrate (2) Vitamin

(3) Protein (4) Fat

61. 50-70 percent of our body weight is made up of ................. .

(1) Water (2) Proteins

(3) Minerals (4) Carbohydrates

62. Roots and tubers are rich in major nutrient .................. .

(1) Carbohydrate (2) Protein

(3) Fat (4) Vitamin

63. Diseases which are present from the birth, are :

(1) Infectious (2) Communicable

(3) Non-infectious (4) Deficiency
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64. Leprosy and plague are grouped under ................ disease.

(1) Infectious (2) Non-infectious

(3) Deficiency (4) Obesity

65. Which of the following can be used for disinfecting air by mechanical means ?

(1) Ultraviolet radiation (2) Chemical vapours

(3) Special filters (4) All of these

66. Exposure to ................ causes acute sickness, characterised by headache, insomnia

and vomiting.

(1) High altitude (2) Low altitude

(3) Drylands (4) Arid zone

67. Which of the following is incorrect about AIDS ?

(1) It is a viral disease. (2) Virus disables the immune system.

(3) Spreads through touching. (4) Transmitted through blood.

68. Kwashiorkor is a ..................... .

(1) Protein deficiency disease

(2) Seen in severely malnourished children

(3) Both (1) and (2)

(4) Only (1)
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69. Pavlov’s experiments on dog explained the concept of ....................... .

(1) Anxiety (2) Stimulus and Response

(3) Depression (4) Aggression

70. Which of the following instances is an example of mass communication ?

(1) Communicating with your friend over phone

(2) Communicating with your parents at home

(3) Communicating with your friends in social media groups

(4) None of the above

71. Which of the following events is famous for enunciating ‘Panchsheel–Five

Principles of Co-existence’ ?

(1) Non-aligned Summit at Algiers

(2) General Conference of UNESCO at Nairobi

(3) General Conference of UNESCO at Belgrade

(4) Bandung Conference in Indonesia

72. Which of the following is not a part of nervous system ?

(1) Brain (2) Spinal cord

(3) Heart (4) Peripheral nerves
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73. Which part of the brain increases the breathing rate in case of high carbon dioxide

concentration in blood ?

(1) Pituitary gland (2) Hypothalamus

(3) Cerebellum (4) Occipital lobe

74. Insulin is synthesized by ................ .

(1) Hypothalamus (2) Thyroid

(3) Pancreas (4) Testes

75. ................... is involved in the transmission of nerve impulse.

(1) Enzyme (2) Neurotransmitter

(3) Lymph (4) DNA

76. ................... neurons send signals from the nervous system to muscles.

(1) Motor (2) Sensory

(3) Inter (4) Association

77. Development of Science and Technology is influenced by :

(1) Economic needs of the society

(2) Cultural and value systems of society

(3) Needs of the society

(4) All of the above
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78. Which of the following is not a gift of science and technology to the

society ?

(1) Communication systems (2) Transport systems

(3) Land resources (4) Printing Press

79. 75% of the body’s requirement of oxygen is used by :

(1) Heart (2) Muscles

(3) Lungs (4) Brain

80. Which of the following is not an endocrine gland ?

(1) Thyroid (2) Parathyroid

(3) Liver (4) Pancreas

81. Memory, reasoning, analysis and synthesis are part of ................... .

(1) Cognitive learning (2) Reward and punishment

(3) Stimulus (4) Response

82. Feelings of revulsion at the sight of smell of certain foods because of bad experience

with those foods is a ....................... .

(1) Learned reflex (2) Instinctive

(3) Behavioural problem (4) Habit
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83. According to Piaget’s theory of mental development, children can think and reason

using hypothetical situations at the age of ....................... .

(1) 2 to 6 years (2) 6 to 10 years

(3) 11 years onwards (4) After being punished

84. 
Mental Age

100
Chronological Age

is used to define :

(1) Intelligence quotient (2) Emotional quotient

(3) Fitness factor (4) Performance factor

85. Communication can be used for :

(1) Economic development

(2) Increased production and national income

(3) Improve living standard of people

(4) All of the above

86. During the freedom struggle, most of the communication was through ................ .

(1) Interpersonal communication (2) Television

(3) Internet (4) Social media

87. Salt Satyagraha took place in the year .................... .

(1) 1928 (2) 1929

(3) 1930 (4) 1931
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88. Which of the following is not true for technology transfer ?

(1) Import of technology

(2) Export of technology

(3) Transfer of technology from laboratory to field

(4) Conduct of experiments in laboratory

89. National Research and Development Corporation of India (NRDC) was set up in

1953 for facilitating ......................... .

(1) Transfer of funds for research

(2) Transfer of technology from laboratory to field

(3) Transfer of information

(4) Import of technology

90. The first nuclear power plant was commissioned in India at ................... .

(1) Kalpakkam (2) Kakrapar

(3) Tarapur (4) Kaiga

91. ................... was the first wholly made synthetic fibre.

(1) Rayon (2) Nylon

(3) Cellulose (4) Terylene
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92. Identify the correct pair :

(A) Rauwolfia serpentina — Serpasil

(B) Digitalis — Fox glove

(C) Chrysanthemum — Vincrystine

(1) (A) and (B) (2) (B) and (C)

(3) Only (A) (4) (A) and (C)

93. Coherence is the property of :

(1) Sunlight (2) Laser light

(3) Both (1) and (2) (4) X-rays

94. Which of the following statements is not true about LASER ?

(1) It is used in eye surgery.

(2) It is used to measure distance.

(3) It is used to increase the shelf life of food.

(4) It is used to create holograms.

95. Endoscopes, used to see internal organs of the human body are made

of ................... .

(1) Optical fibres (2) X-rays

(3) Digital fibres (4) Both (2) and (3)
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96. INSAT series of satellites are :

(1) Launch vehicles (2) Geostationary satellites

(3) Space probes (4) Rockets

97. In nuclear reactors, cadmium or boron steel is usually used as .............. of neutrons.

(1) Moderator (2) Absorber

(3) Coolant (4) Inducer

98. Identify the enzyme present in tears and nasal secretions :

(1) Pepsin (2) Lipase

(3) Lysozyme (4) Amylase

99. Archimedes is even remembered today for his contribution towards development

of .................... .

(1) Floating bodies (2) Thermodynamics

(3) Biostatistics (4) Aerodynamics

100. Which of the following is not a water-borne disease ?

(1) Jaundice (2) Typhoid

(3) Malaria (4) Hepatitis
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,Q- ,l- Vh--01

Lukrd mikf/k dk;ZØe ¼ch- Mh- ih-½

l=kar ijh{kk] twu] 2022
foKku ,oa izkS|ksfxdh eas vk/kkj ikB~;Øe

le; : 3 rhu ?k.Vs vf/kdre vad : 100

lkekU; funsZ’k
1. lHkh iz'u vfuok;Z gSaA izR;sd iz'u 1 vad dk gSA

2. ijh{kk d{k ds vanj lsyQksu] dSydqysVlZ] iqLrdsa] LykbM&:Yl] uksVcqDl ;k fyf[kr uksV~l] bR;kfn ys

tkus dh vuqefr ugha gSA

3. vkidks ijh{kk LFky ij dsanz O;oLFkkid o fujh{kd ds }kjk fn, x;s funsZ’kksa dk vuqikyu djuk gksxkA

,slk u djus ij vkidks v;ksX; ?kksf”kr fd;k tk,xkA

4. dksbZ ijh{kkFkhZ udy djrs ;k djkrs gq, idM+k tkrk gS rks mls v;ksX; ?kksf”kr dj fn;k tk,xkA

5. vkidks fujh{kd }kjk iz’ui= rFkk vks- ,e- vkj- mŸkj i=d iznku fd;k tk,xkA ijh{kk lekIr gks tkus

ds i’pkr~] ijh{kk d{k NksM+us ls igys vks- ,e- vkj- mŸkj i=d dks fujh{kd dks lkSai nsaA fdlh ijh{kkFkhZ

}kjk ,slk u djus ij mls v;ksX; ?kksf”kr dj fn;k tk,xk rFkk fo’ofo|ky; mlds f[kykQ vkxs

dk;Zokgh dj ldrk gSA

6. lHkh jQ dk;Z iz’ui= ij gh djuk gS] fdlh vU; dkxt ij ughaA LØSi isij dh vuqefr ugha gSA mŸkj

nsrs le; vki mŸkj&iqfLrdk esa gh gkf’k;s dk iz;ksx dj ldrs gSa] dqN fu’kku yxk ldrs gSa ;k js[kkafdr

dj ldrs gSaA

7. fo’ofo|ky; dks ;g vf/kdkj gS fd fdlh ijh{kkFkhZ }kjk vuqfpr O;ogkj ;k vuqfpr lk/kuksa dk iz;ksx

djus ij mlds ifj.kke dks jí dj nsA fo’ofo|ky; dks Hkh pkfg, fd og lHkh ijh{kkfFkZ;ksa ds vadksa dh

tk¡p ,dleku :i ls djsA ;fn dgha ls ,slk fn[kkbZ nsrk gS fd vkidk fu”iknu mfpr ugha gS] rks

fo’ofo|ky; vkids ifj.kke jí dj ldrk gSA
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vks- ,e- vkj- mŸkj&i=d ¼ijh{kk mŸkj i=d½ ij lwpuk dSls Hkjsa

1. 9 vadksa esa viuk iw.kZ vuqØekad fy[ksaA ;g vuqØekad vks- ,e- vkj- mŸkj i=d ij vkids }kjk Mkys x,
vuqØekad ls feyuk pkfg,A fn, x, LFkku esa viuk lgh uke] irk Hkh fiu dksM lfgr fyf[k,A vks- ,e-

vkj- mŸkj i=d ij frfFk lfgr vius gLrk{kj dhft,A ;g lqfuf’pr dj ysa fd vkids ijh{kk d{k esa

fujh{kd us Hkh nh xbZ txg ij frfFk lfgr vks- ,e- vkj- mŸkj i=d ij gLrk{kj dj fn, gaSA

2. vks- ,e- vkj- mŸkj i=d ij ijh{kkFkhZ dk fooj.k uhys@dkys cky isu }kjk Hkjk tkuk pkfg,A vuqØekad

o ijh{kk dsanz dwV fy[kus o lkFk gh iz’u ds Øekad ds lkeus lgh mŸkj&la[;k okys xksys dks dkyk djus

ds fy, Hkh uhys@dkys cky isu dk iz;ksx djsaA

3. bl i=d ij dksbZ vokafNr fu’kku u yxk;saA

4. vuqØekad rFkk ijh{kk dsanz dwV LraHk esa lgh lwpuk vadksa esa fy[ksaA laxr xksys dks iw.kZr% xgjk djsa rFkk

iw.kZ :i ls HkjsaA

5. izR;sd iz’u ds pkj laHkkfor mŸkj gSa ftUgsa ¼1½] ¼2½] ¼3½ o ¼4½ }kjk n’kkZ;k x;k gSA vkidks buesa ls

lokZf/kd mfpr mŸkj dks pqudj n’kkZuk gSA lokZf/kd mfpr mŸkj dks pqudj uhys@dkys cky isu ls iz’u

ds Øekad ds lkeus lgh mŸkj okys xksys dks dkyk djsaA ;fn vkidks yxs fd iz’u ds uhps fn, gq, pkj

fodYiksa esa ls dksbZ lgh ugha gS] vki xksys dks ^0* lfgr dkyk djsaA

6. ,d ls vf/kd mŸkj gksus ij dksbZ vad ugha  feysxkA blfy, lokZf/kd mfpr mŸkj dks gh pqusaA

7. ,d iz’u ij vf/kd le; er [kpZ dhft,A ;fn vkidks dksbZ iz’u dfBu yx jgk gks] rks mls NksM+dj

vxys iz’u dks gy djus dk iz;kl dhft,A ckn esa le; cpus ij ml NksM+s gq, iz’u dk mŸkj ns ldrs
gSaA

8. xyr mŸkjksa gsrq dksbZ _.kkRed vadu ugha gksxkA
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1.

(1) (2)

(3) (4)

2.

(1) (2)

(3) (4) ¼ ½

3. ]

(1) (2) ¼ ½

(3) (4) ¼ ½

4. &

(1)

(2) &

(3)

(4)
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5.

(1)

(2) Ø

(3)

(4) ¡

6. ¼ ½

(1) (2)

(3) ± (4) Ÿ

7.

(1) (2)

(3) (4)

8. ]

(A) Ÿ

(B)

(C)

(1) (A) (B) (2) (A) (C)

(3) (B) (C) (4)
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9. &

(1)

(2)

(3)

(4)

10.

(1) (2)

(3) (4)

11.

(1) (2)

(3) (4)

12. &

(1) (2)

(3) (4)

13. ] ] ] Ÿ

(1) (2)

(3) (4)
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14. &

(1) ¡

(2) ¡

(3)

(4)

15. &

(1) ª

(2)

(3)

(4)

16.

(1) (2)

(3) (4)

17.

(A)

(B)

(C)

(1) (A) (B) (2) (A) (C)

(3) (B) (C) (4)
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18. &

(C)

(B)

(C)

(1) (A) (B) (2) (A) (C)

(3) (B) (C) (4)

19. &

(A)

(B)

(C)

(1) (A) (B) (2) (A) (C)

(3) (B) (C) (4) (B)

20.

(1) (2)

(3) (4)

21. ^ *

(1) (2)

(3) (4)
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22.

(1)

(2)

(3) ¡

(4)

23.

(1) 5° (2) 10°

(3) 1° (4) 7°

24.

(1) (2)

(3) (4)

25. ^ *

(1) (2)

(3) (4)

26. &

(A)

(B) ] &

(1) (A) (2) (B)

(3) (A) (B) (4)
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27. Ÿ

(1) Ø

(2)

(3)

(4)

28.

(1) (2)

(3) (4) &

29. ^ *

(1)

(2)

(3)

(4)

30.

(1) & (2)

(3) (4)

31.

(1) (2)

(3) (4)
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32.

(1) (2)

(3) (4)

33.

(1) (2)

(3) ¡ (4)

34. ^ *

(1) (2)

(3) (4)

35.

(1) (2)

(3) (4) ¡

36.

(A)

(B)

(C)

(1) (A) (2) (B) (C)

(3) (A) (B) (4)
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37. ß & Þ

(1)

(2)

(3)

(4)

38. ß Þ

(1)

(2)

(3)

(4)

39. ß

Þ

(1) (2)

(3) (4)

40. ß ]

& Þ

(1) (2)

(3) (4)
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41. & ¼ ½ ] ¼ ½

&

(1) (2)

(3) (4)

42. ß Ÿ Þ

(1) (2)

(3) (4)

43. &

(1)

(2)

(3)

(4)

44. &

(1) (2) Ÿ

(3) (4)

45.

(1) (2) ]

(3) (4)
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46.

(1) ] (2) ]

(3) ] (4) ]

47.

(1) (2)

(3) (4)

48.

(1) (2)

(3) (4)

49.

(1) (2)

(3) (4) (1) (2)

50.

(1) (2)

(3) (4) &



FST-01 ( 38 )

51. &

(1) (2)

(3) (4)

52. &

(1) PAN ª

(2) ¡

(3)

(4) PAN

53. ¼ ½

]

(1) ¡ (2) ¡

(3) (4)

54. ¡ Ÿ

(1) (2) ª

(3) (4)

55. ] ] ]

(1) (2)

(3) (4)
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56. &

(1) (2)

(3) (4)

57. ¼

(1) (2)

(3) (4)

58.

(1) (2)

(3) (4)

59.

(1) ª (2)

(3) (4)

60. ¼ ½

(1) ª (2)

(3) (4)
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61. &

(1) (2)

(3) (4) ª

62.

(1) ª (2)

(3) (4)

63. ]

(1) Ø (2)

(3) (4)

64. ¼ ½

(1) (2)

(3) (4)

65.

(1) (2)

(3) (4)
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66. ]

(1) ¡pkbZ (2) ¡

(3) (4)

67. (AIDS)

(1) (2)

(3) (4)

68.

(1) (2)

(3) (1) (2) (4) (1)

69. Ÿ

(1) (2) í Ø

(3) (4) Ø

70.

(1)

(2) &

(3)

(4)
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71. & ^ ¡ *

(1)

(2) (UNESCO)

(3) (UNESCO)

(4)

72. &

(1) (2)

(3) â (4) ¡

73. &

(1) (2)

(3) (4)

74.

(1) (2)

(3) Ø ¼ ½ (4)
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75.

(1) (2) ª

(3) (4)

76. ¼ ½

(1) (2)

(3) (4)

77.

(1) ¡

(2) ¡

(3) ¡

(4)

78. &

(1) (2)

(3) (4)

79. 75%

(1) â (2) ¡

(3) (4)

80. &

(1) (2)

(3) (4) Ø ¼ ½
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81. ] ]

(1) (2)

(3) í (4) Ø

82. ± ¡

(1) Ø (2)

(3) (4)

83. ]

(1) (2)

(3) (4)

84. 100

(1) (2)

(3) (4)

85.

(1)

(2) ª

(3) &

(4)
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86.

(1) (2)

(3) (4)

87.

(1) (2)

(3) (4)

88.

(1)

(2)

(3)

(4)

89. ª

(1)

(2)

(3)

(4)

90.

(1) (2)

(3) (4)
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91.

(1) (2)

(3) (4)

92.

(A)

(B)

(C)

(1) (A) (B) (2) (B) (C)

(3) (A) (4) (A) (C)

93.

(1) (2)

(3) (1) (2) (4) &

94. (LASER) &

(1) Ø

(2)

(3) ¼ ½ vk;q c<+kus ds fy, fd;k tkrk gSA

(4)
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95.

(1) (2) &

(3) (4) (2) (3)

96. (INSAT)

(1) (2)

(3) (4)

97. ª

(1) ¼ ½ (2) ¼ ½

(3) ¼ ½ (4) ¼ ½

98. ¡

(1) (2)

(3) (4)

99.

(1) (2) Å

(3) (4)

100. &

(1) ¼ ½ (2)

(3) (4)



( 48 )

Rough Work
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